PROFESSIONAL EXAMINATION

¥ Professional BOARD
pbemmmtion Police Constable Recruitment Test -
board 2017 (Supplementary)

28th Sep 2017 09:00AM

Topic:- General Knowledge and Logical Knowledge

is the first woman DGP (Director General of Police) of Gujarat. / ToRTd

A T AN e e £
1. Meera Borwankar / HIRT SRaATHT

2. Aparajitha Rai / SORTFSTAT I

3. Kiran Bedi / foxe1 ot

4. Geeta Johri / TidT Gﬁﬁ

Correct Answer :-

o Geeta Johri / TfidT Gi|61§|

2) If the seventh day of a month is three days earlier than Friday, What day will it be on the

nineteenth day of the month? /Hﬁwnﬁﬁmmﬁiwﬁmﬁ#mmi a
TEH o1 Il AR foee i a2

1. Tuesday / HIAdR
2. Saturday / JFAR

3. Friday / {[shdIR
4. Sunday / REEIH

Correct Answer :-

e Sunday / Ifaar

3) If three unbiased coins are tossed, then what is the probability of getting zero heads? /qﬁ Gk

freaes Rige) o SoTar sirar 8, @ w1 Y =i ura 78 819 99 3 wilkiewar 82

g
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3. 8
4,

Correct Answer :-

4) Which of the following Indian cricketers was named as the Wisden Leading Cricketer in the World

for 2016? / =1 & & fope U fopdbe FRaaTEt o1 2016 F1 fAo787 ST fFdbev 57 7 gea g1
TN

1. Ajinkya Rahane / e ?ETEJT

2. Ravichandran Ashwin / IfddgT 3%
3. Cheteshwar Pujara / EGEGN PSIN

4. Virat Kohli / faRTC Pigel

Correct Answer :-

e Virat Kohli / faRTe ﬁ%’&ﬂ

5) Which of the following state governments has launched an app named 'e-nagarpalika’' to
provide various municipal services online? FrAfafea d 9 feaIsa Rer A IEGIER!

TRUT AT VATE YST B P folE 'S-TRUT eI ATH BT U 3RY fHar g2
1. Uttar Pradesh / 3«¥ ‘;I%{Q[

2. Gujarat / T[oIRId
3. Delhi / fdeedt

4. Madhya Pradesh / H&] PLEy

Correct Answer :-

» Madhya Pradesh / H&] e

6) If FLOPPY is coded GKPOQX, then how is COMPUTER coded? / af¢ FLOPPY @Y GI(POQX'\ET

HIfSd BT ST 8, I COMPUTER DY 4 Difed far SRIm?

1. DNNOVSFQ

)



2. DNMOVSFQ
3. DNNOVTFQ
4. DMNOVSFQ

Correct Answer :-

« DNNOVSFQ

7) If GUEST is coded TFVHG, then how is PARROT coded? / Gf¢ GUEST® TFVHG A HIfsd
far SiTaT 8, 9 PARROT S $1 wifed far s

1. KZITKG
2. KZIILG
3. KYIIKG

4, KYIILG

Correct Answer :-

« KZIILG

8) If one writes 'Forty three thousand five hundred and seventy eight' in a reverse form which

number would be in the hundreds place? /qﬁ ﬁ'é‘ ddrei W‘Tﬁfﬁ 33’ B yfaa| T &
foraar & @) P19 11 3k AH ST VI U SN2

1. Seven / HId
2. Five /Ui
3. Eight / 3{ld

4, Three / ?‘ﬂ:f

Correct Answer :-

e Five /T

9) Babu ranks eighteenth in a class of 49 students. What is his rank from the last? / 49 B‘ﬁﬁﬁw

T W arg B 1891 ¥ B 1 MW T ITDT ¥ HAT gRM?
1.32
2.31
3. 27

4. 30

Correct Answer :-

e 32
“4)



10) If THURSDAY is coded RUHTYADS, then how is DISTANCE coded? / qﬁ THURSDAY &1

RUHTYADS ¥ SIf$d forar STa1 €, 9t DISTANCE & %4 s fear smam?
1, TSIDANCE
2. TSIDECNA
3. ECNATSID

4. DISTECNA

Correct Answer :-

« TSIDECNA

11) Select the option that is true about the Statements and Conclusions given:

Statements:
All sweaters are coats
Some shirts are sweaters

Conclusions:
I. Some shirts are coats
I1. All shirts are coats

1 39 faeme &1 99+ B 5t 7% AT v Sy ofk forerel & o & 981 &:

FY:

I B Ple §

TO PHIA WX §

e

L. $T U BIC &

3R sHv Pl

1. neither conclusion I nor conclusion II follows /1 81 Fehe 1 3R 1 8 s 11 3FfaRUT 6%l
2. both conclusion I and II follows / FSHY I 3R 11 GIFT TR0 = §

3. only conclusion IT follows / A [SHY IT STIRTT HRAT §

4. only conclusion I follows / Had FpY 1 ST HIAT S

Correct Answer :-

« only conclusion I follows / Ha FSHY I TRV BT §

®)



Select the option that is true about the Statements and Conclusions given:

Statements:
All games are movies
All movies are bags

Conclusions:
I. All games are bags
II. All bags are games

1 39 fawen o1 g9+ B it f faw 7o syt oiv fAswt & o & @gh 8

DY:

it Qa gat §

it Tafe A €

Fryw:

L 9 e A §

0. T IR BAE

1. neither conclusion I nor conclusion II follows /1 81 Fepe 1 3R 7 8 e 11 3F7aRUr 6%l
2. both conclusion I and II follows / FSHY 1 3R 11 GIFT TR0 = &

3. only conclusion IT follows / BHad [SHY IT STHRUT BT &

4. only conclusion I follows / Had F&HY I S{TARUT BT §

Correct Answer :-

« only conclusion I follows / Fad (HY I SFIERT GG

13) Select the option that is true about the Statements and Conclusions given:

Statements:
All coins are balls
All balls are bats

Conclusions:
I. All bats are coins
I1. All balls are coins

1 3% fawen &1 ag= Bifore oY 7 fg e sl ok frspal F aR A Wl 2
DHY:
it e g g
it g aedt §
e
1. 9t g Reds &
(6)



1. g4 7 fgeh §

1. neither conclusion I nor conclusion II follows /7 &I fTeemd 1 3R 7 &1 feamtl 11 S{FERT TRA G
2. both conclusion I and II follows / fsHY I &R 11 G ST A §

3. only conclusion II follows / Had ey 11 S{FERT W%

4. only conclusion I follows / Had sy |1 ST WT%

Correct Answer :-

¢ neither conclusion I nor conclusion II follows / _pr ey 1 3R T Ep[ fpy 11 S{FHT HId %

14) The 15 Pravasi Bharatiya Divas 2017 was held in which city in India? / 157 yarft URd™

feaw 2017, HRa & fog 2w § maiford foar T un?

1, Mumbai / %
2. Bangalore / 7 SN

3. Pune / E,rf?r
4, Delhi / feeat

Correct Answer :-

« Bangalore / 1 AR

15) A, B, C,D and E are standing in a row. On one end of the row is D and on the other end is C. B is
to the right of E. A is to the left of C. E is in-between D and B. Who is in the center of the row? / A, B,
C,DIRE T UM A TS gL I TR P THF DR R D IR MR P IR BRWRCEIB,ES
L3RI A, CH TN AR EIE, D 3R B S &g & g1 ufew & Fai-dra s 82

1.D
2.A
3.E

4. B

Correct Answer :-

16) If HEATER is written as KBDQHO, how will you encode COOLER? / Tﬂ% HEATER &1

KBDQHO for@T SITd1 2, @ COOLER &1 $& Pifed fpar s
1. FLRIHO
2. FRLIHO

3. ALRIHV

()



4. FLIRHO

Correct Answer :-

« FLRIHO

17) In a certain code language, ni ra ge means who are you, boi wo dur means going far away, wo ge

chi means you went away. Which of the following is the code for went? / Y W HIHT ff, ni ra ge PI
31 who are you, boi wo dur BT 3ref going far away, wo ge chi ®T 3f of you went away giar %I went &

o el s wHs a2
1. ra
2. wo
3. chi

4, boi

Correct Answer :-
o chi

18) The Right of Children to Free and Compulsory Education (RTE) Act came into force and became

operativein____ . / F= & Waﬁ? Srfvrard Rrem &1 ARPR (GI'R'cﬂ'g) Gl'f\ﬂﬁlﬂ'l:[_ﬁ
AR 3R Tarferd gail

1. 2014
2. 2015
3. 2009

4. 2010

Correct Answer :-

19) In a class of 35 students, Mahesh is placed seventh from the bottom whereas Rajesh is placed ninth
from the top. Akshay is placed exactly in between the two. What is Mahesh's position from Akshay? / 35

faenfdal &t v e §, wew i A Had T R g Safe e 2N I 99 ™A R 1 e 3q
S & Sio T A 71 S A w1 RATT 7 72

1. 11
2.13
3. 10

4.9

Correct Answer :-

8)



20) Sahitya Akademi was established as an autonomous body in by the Government of India. /

YRY WWHR GRIAIA SPEH S 8 TP R (oTa & U § RTfira fyam war am
1. 1954
2. 1963
3. 1948

4. 1987

Correct Answer :-

21) Find the odd one out: / T% fa9H JTd HifoTe:
1. Mango / 3H

2. Pomegranate / 3[R

3. Papaya /tl'qc]FlT

4, Guava / H®q

Correct Answer :-
e Mango / 3H

22) Who among the following is an Indian Archaeologist who is associated with the discovery of the

Bhimbe’c%ka Caves?/ﬁ?ﬁﬁﬁqw Wgﬁﬁﬁﬁ%@mﬁmw&ﬁﬁmﬁ

1. S. R.Rao/TH. AR. X4

2. Vishnu Shridhar Wakankar / {4 $1¢R 101
3.D. J. Joshi / 3. ST, SI=A

4. D. K. Chakrabarti / 81, . Tghal

Correct Answer :-

 Vishnu Shridhar Wakankar / ﬁ'&ﬂ HitR qrHUTDR

23) Who among the following from Madhya Pradesh was conferred with Padma Shri in the field of

Medicine in 2017? / A W&RT & 15 o & fore safaa &t 2017 § oNuf & &1 o et oft v
we forar e

1. Mohammed Waheed /ma—tﬂ?{
9



2. Bhakti Yadav / Hfad dTcd
3. Keshavrao Datey/mm
4. Syed Zillur Rahman /?Fica IG@Q XgHIH

Correct Answer :-

« Bhakti Yadav / Hfdd grea

24) Who among the following was one of the Architects who designed New Delhi and many of its
famous buildings? / FERIREAT # } ®19 37 aRgPRI # A T T, foreiA 72 el 3N 98 Pt B8
RIS SAR! &1 7o &1 A

1. Piloo Mody /lﬂqﬁa“r
2. Robert Adam / e UsH

3. Ram Singh /Wﬁi—é

4. Edward Lutyens /Q@H@ﬁm
Correct Answer :-

« Edward Lutyens / T8de qfedw

25) Who among the following was honoured with the Rajiv Gandhi Khel Ratna Award in 2017? /

Frafafea & 3 {52 2017 9 veila Tt @ @ RReR gR1 g foar T ure
1. Heera Nand Kataria /@QT:{?IWT&TIT
2. Roshan Lal / A2 AT

3. Vishwanath Anand /ﬁ%FIT?I 3{Hg
4, Devendra Jhajharia / Gd% SITSIRAT

Correct Answer :-

« Devendra Jhajharia / Gdg SIToIdl

26) India shares its longest international border with ./ HIRd &Y %QTQTFTQI
Had el SRt g WA R

1. Bangladesh /m

2. Pakistan / UTfcb i<

3. Nepal / UTd

4. China /3

Correct Answer :-

* Bangladesh / a‘lalém

(10)



27) Madhya Pradesh is the second-largest State in the country, with an area of about square

%uometers./nwm,wmmmmw%,mamwm a1 fpaitiier
|

1. 3,08,252
2. 4,50,252
3. 2,10,252

4. 6,30,252

Correct Answer :-
e 3,08,252

28) Which of the following is the National Waterway No. 1 (NW-1)? /ﬁ'ﬂ'ﬁl@?{ HAA P ?Tg]'q
AR @ 1 (TTS -1) 82

1. Narmada River / THGT -Tc]
2. Chambal River / T&Id It
3. The Ganga River between Allahabad and Haldia / 2llgldiq @TW%QWWH@&
4. The Brahmaputra river between Sadiya and Dhubri/ &1 Td W%ﬂmwﬁr

Correct Answer :-

« The Ganga River between Allahabad and Haldia / SATETSTE 3fR fcaar & He T =7

29) The National Cadet Corps (NCC) was established in the year ; /?T@Tl%? PR (Q:Nﬂ'\‘ﬂ')
Pt =TT, T Hgs A

1. 1942
2.1948
3. 1978

4. 1956

Correct Answer :-

30) The Madhya Pradesh Hindi Granth Academy was established in ./ Ay fEd Uy

SPIGH! BT TITYAT A &1 7g 4
1. 1969

2. 1947

(11)



3. 1982

4. 1956

Correct Answer :-
e« 1969

31) Mahatma Gandhi started the Dandi March from . /II'&'IE:ITTﬁiﬁ Kk E."l@bf AT BT
URYH T forar

1. Sevagram Ashram / AT 3T9H
2. Porbandar / UREGX

3. Santiniketan / Qi T

4, Sabarmati Ashram / TSR 3{19H

Correct Answer :-

« Sabarmati Ashram / TTSRH! STYH

32) is the leading iron ore exporting port of India. / HRd mmaﬁg SAIDh
Frafa® seme 71

1. Kamarajar Port / hTHRIGIR Gid%‘lls

2. Kandla Port / HiSdl §GTE

3. Mormugao Port / ARSI SExATE

4, Mumbai Port/H_Gr&; SIAUIR

Correct Answer :-

» Mormugao Port /ﬁ?—ﬂ"'ﬂ\?h CIRU I

33) Ashrafi Mahal and Nilkanth Mahal is located at ./ 3RRBT Hed 3R Hass Hed
u fRa gl

1. Patalkot / GTdTelehIC

2. Chanderi / a’%il

3, Mandu / 91§
4. Khajuraho / 99X 8

Correct Answer :-

+ Mandu /HIg



34) Atal Bihari Vajpayee Hindi Vishwavidyalaya was established in the year ./ 3red fagrd

el § fyfeaea S wmgarad . dgg oA
1. 2008
2. 2011
3.2015

4. 2005

Correct Answer :-

« 2011

35) Complete the series choosing the missing number: / & I&AT JABR YTl G| o PIfoTT:
1,5,14,30,55,__

1. 93

2.90

3.92

4,91

Correct Answer :-

« 01



37) Complete the series choosing the missing number: / YUl BT oD @l Hﬁq\'ﬂﬁm:

17,19, 23, 29,

1. 37
2. 34
3.36

4. 35

Correct Answer :-

« 37

38) Which of the following districts will become India’s first carbon neutral district? /

fFraferfea & 3 o a1 frer yRa 1 ugen s ~gga forer s
1. Madurai / II@TSQC
2. Bhubaneswar / Haef%l?

3. Majuli / Tell
4. Bhopal / HuTa

Correct Answer :-

« Majuli / FS[cl

39) Select the option that is true about the Statements and Conclusions given:

Statements:
All advertisements are serials
All serials are movies

Conclusions:
I. All movies are serials
I1. All advertisements are movies

/ 3 faed BT aa=T HIfoTg ol b fT T HAl ok fAsp ol & 9 3 W8l &:

HY:

it faRTo YRTaTR® €

Tt YRS Taf= §

IELCaR

L. 94 TR YRTETe S §

1. it fagmu= et §

1. neither conclusion I nor conclusion II follows /& FTsrS 1 3R 7 & fshY 11 3FTRU Hd §

2. both conclusion I and II follows /&A1 3R 11 G| SR YA %
. - (14) .



3. only conclusion II follows / &ad fShY 11 3IERUT Bl §
4. only conclusion I follows / ad FTepY [ TR Hl §

Correct Answer :-

« only conclusion II follows / Had ST I1 SR HT &

40) The series given below contains a sequence of humbers. Identify the incorrect combination:

| RS TE graen § TS o1 TP H9 SRR &1 Tad T Ugdng:
4,5,9, 20, 34, 59

1. 20

2.34

3. 59

4.9

Correct Answer :-
e 20

Topic:- Mental Ability and Mental Aptitude

1)
In the sequence shown below, which figure comes next? /! A &3 a8 shH H, 3Ei 3—]1_%71?{
FieT T 3mEf?

K [\t O Q *
D C | H M h S R
' i w i
U Y
S
X W
1,
u v
R
X W
2.

(15)



X U
T
W
3.
T U
S
LAY
4,

2)

Ifthe following two squares shown below overlap, which one of the following options is

formed? / T &t 2 g4t 3ifdeaid gld &. ot e & ¥ &ia a1 v faheg doar
27

'
- —
- b
¥ r
& &~
11 4
“— .
] »
¥ | T
1.
& &
- "
\
L 3K
2.
FEEN
b | 1
e \J\%
| |
¥ ¥ |
3.
& 'y
= ¥
- "
w L 4
4,

(16)



Correct Answer :-

A & [
- —*
{1l
. ||
L T
L
3)

FieT TT IEEN?

In the sequence shown below, which figure comes next? / Her &3 I8 she &, 3TdTelT W

Wak .
L Ji H
s
i ik HH N w 1
{ ‘,’J L) |
kr !
| |
"x.,_“___,-""
1.

4) The series given below contains a sequence of alphabets and numbers. Identify the

incorrect combination: / el Eﬁ'Tl_sc W?IT ﬁ, 3R} 3R H=mait W@Wﬁ%ﬁ%l Teld
) ) (17)



Tgre = q'B?ITﬁ'TE:
i.juiop01250poiju

il.juiop01250poiju
jii.juiop01200poiju
iv.juiop01250poiju

1. i1l

5) When a sum of money is distributed among Sudha, Sakshi, Shikha, and Samira in a ratio of 2: 7 :
13 : 10, Sakshi gets Rs. 49, then how much money will Samira get? /\Tq'aﬁ's‘ ‘EF'RTQTﬁ'HT, W&ﬁ,
RrarsiRaiRI ST d 2:7: 13 : 10 F rgura # faafa &1 w1t § o T1eh 3t 49 02 v gia
&, 99 THRT $Y fFa- T2 v g

1.Rs. 77/77 308
2.Rs. 14/ 14 30
3. Rs.91/91 W

4. Rs. 70/ 70 ST

Correct Answer :-
. Rs.70/70 900

6) Ten men can do a piece of work in 14 days and 10 women take 21 days to complete the same work.
How many days will 5 men and 10 women take to complete the work? / ¥ J¥=9 Wﬁ"l’&aﬁ 14 f&=i
T quf 7 Td § 3N 10 AfTATE S Hrd o1 21 a1 o qui w=cdt €1 5 =0 3R 10 Afgensi &
P quf B | =T aw a2

1. 14 days / 14 fa
2. 10 days / 10 T
3. 8 days /8 fa

4. 12 days / 12 T&=

Correct Answer :-

« 12days/ 1279
(18)



7) Which one of the following four addresses is NOT EXACTLY same as the one given below? / IBL]

33 T TR udl # @ i fed T ud & S 9HE B 91 U@ 61 57

Ursula
Schutzenstr. 8,

Glandorf, 49219

(i) Ursula
Schutzenstr. 8,

Glandorf, 49219

(ii) Ursula
Schutzenstr. 8,

Glandorf, 49519

(iii) Ursula
Schutzenstr. 8,

Glandorf, 49219

(iv) Ursula
Schutzenstr. 8,

Glandorf, 49219

L. 111

8) A train travels 337.5 kms in 4.5 hrs. What is the speed of the train? / T a? 4.5°9eI ¥ 337.5

il ae BRI 1 ST B A R R?

(19)



1. 70 km/hr / 70 fopet /der
2. 85 km/hr / 85 fHI./HeT
3. 75 km/hr / 75 T /deT

4. 80 km/hr / 80 oY /2T

Correct Answer :-

e 75 km/hr / 75 fopHY /et

9) A textile company has 20 machines. The annual aggregate output produced by these machines is
Rs. 200,000. Annually, the company pays Rs. 20,000 for raw material and Rs. 100,000 as
infrastructure costs. The company pays 10 % of the profit to its shareholders. How much profit will
the company pay to its shareholders if two machines break down and have not been used for a year? /

TP I HU-T T 20 A=A 81 37 =41 §RT Scfed $ot a1 Iaare 200,000 FUL HT 1
e U/, S F= 91 & T 20,000 FUA BT 3R A @ AR F =0 A 100,000
FUA BT YA DIl ¢ | DU T IR URPI B ATH BT 10% UG Pl 21 Al & wxfi=
gﬂgﬁmﬂﬁvwaﬁ%mﬁaﬁaﬁﬁmﬁﬂwwﬁaﬁmmwm

(]

dea| =

0.
]

7

dea | 22

2.
3. 8%

4. 9%

Correct Answer :-

10) A merchant marks Rs. 240 as the price of a radio which is 20 % more than its cost price. A
discount of 10 % is allowed on its marked price. What profit does the merchant get in this

transaction? / U TURY, TP IS BT Yo 240 T 3ifpd Ha1 @ <t i 39 arra geu
20% sﬁ‘wﬁi%m B T THP Hfbd Hed W UGH B &I1d1 81 59 A9-371 § S1ard) &Y fdamn
TH T ?

1.Rs. 16/ 16 S0
2.Rs. 17/17 39
3.Rs. 18/ 18 T
4.Rs. 15/ 15300

Correct Answer :-

(20)



« Rs. 16/1630°

11) An objective test was given to a group of 336 candidates. It was found that 5/6 of the candidates
gave all correct answers. How many of the candidates had made one or more mistakes? / 336

Sufiqar| & TP TYE Pt Th axgi-8 T¥ien & 75 A | 98 91d g3 b 5/6 Sufigari 2 aift W
w&ﬁ%lmﬁmﬁwmmwﬁmaﬂtﬂ

1. 26
2. 56
3.36

4. 46

Correct Answer :-

12) 5 monkeys can eat 5 bananas in 5 minutes. In what time will 20 monkeys eat 5 dozen bananas? /

5 dgR, 5 fiTe & 5 el @TAHd § 1 20 §ER, 5 GOl bl DI fba- 0T H WRT?
1. 45 minutes / 45 fiFe
2. 15 minutes / 15 foFIE
3. 60 minutes / 60 B

4, 20 minutes / 20 i

Correct Answer :-

« 15 minutes / 15 f&FE

13) Arun can complete a piece of work in 3 days. Bishan can complete the same work in 6 days. In
how many days will both of them working together be able to complete the work? / 3[R=U0T Yh U]
I i o & ®X Tl 5| o= St SR 31 6 fa=1 & Fx TP g1 fvaq fa=1 § 1 govary
firaer @1t &1 gof w33 & gam gl

1. 1day/1fe7
2.2 days /2 feT
3.4 days /4 faq

4.3 days /3 &=

Correct Answer :-

« 2days/2 e

(21)



The sum of the present ages of a father and a son is 70 years. If after 10 years, the ratio of their ages
will be 2 : 1, then what is the present age of the son? / G foar siiv Uh ya GGG ST BT
TITE 70 99 g1 Af 10 T UYTH SABT Y T (IUTH 2 : 1 SR a T B adAT Mg fpa-it 82

1. 15 years/ 153y
2. 30 years / 30 Y
3. 25 years /25 ay

4. 20 years / 20 CLY

Correct Answer :-

« 20 years/20 L

15) The average marks scored by 100 candidates in an exam is 50. The average marks scored by
passed candidates is 65 and the average marks scored by the failed candidates is 35. Find the number

of students who failed in the exam. /Wq'\ﬁ&ﬂﬁ' 100 Gwﬂaaﬂ‘rmm S 3 50 %I Il
IHEARI RT YT 3id 3i 65 € SR 3P d SHIGAR] gIRT UIW 3id 3id 35 21 Tiam &
B IR B HBT J1d B

1. 50

2.75

3.55

4. 35

Correct Answer :-

« 50

16) The ages of Bhoomika and Spoorthy are in the ratio of 5 : 2. If the difference of their ages is 36
years, then what was the ratio of their ages 13 years ago? / "{&IW 3R T—gﬁfﬁ MY 5:2 & STUTd
T 21 gfe STHT 3T BT 3R 36 99 & 1 13 T8 Yd STAD| 3Tg HT JUTd T UT?

1.40:41

2.48:12

3. None of the above / SURIGT & T PIs el

4.47:11

Correct Answer :-
o 47:11

17) A farmer’s monthly income is Rs.3000. In that he spends 60% for house expenditure. The

remaining amount is: /Wmﬁﬁwmwﬂﬂw%l Gﬂﬁﬁﬂ?ﬂ?"@ﬁ%ﬁmm% ud
d Hrar g1 AT AR 8:

(22)



1. Rs. 800 / 800 3T
2. Rs. 1200 / 1200 ST
3. Rs. 1800 / 1800 ST

4. Rs. 1000 / 1000 ST

Correct Answer :-

e Rs. 1200/ 1200 3T

18) In a class of 38 girls, 3 were absent and 20% of the remaining failed to do their homework. How

many did their homework? / 38 TSfHal @1 TP HeT A 3 wsfeal srgufRa of i - 20%, 3o+
TeHTd B3 N 3w d ¥ai | fora-il asfeal 3 oruar qeord farar 4

1.28
2.20
3.7

4. 35

Correct Answer :-

19) In a lottery priced at Rs. 5, only one lucky winner would receive Rs.1,00,000. At least how many
such lottery tickets should be sold, if the sponsor wants to earn a profit of 20% on sales from the
lottery? / 5 $UY Yo B TP dicst A, Had Tb YFIGRIE! fIoiar o1 1,00,000 FA U giN | Af
WTaISI dict & fad | 20% T Sifoid HT I15dT © df $H A HH LT fova- aledt fewe ot
9T ST AMReE?

1. 25,000
2. 12,000
3. 12,500

4. 24,000

Correct Answer :-
e 24,000

20) In a group of players, 10 play kabaddi while 20 play only kho-kho, and 5 players play both the
sports. How many players are there in total? / f@ﬁTﬁ?ﬁ & Ud dig 710 ﬁé’f ded % Safd 20
Fad T-T Fad & 3N 5 RISt G T Bad 8 | pof [Ppaq farst 82

1. 25

2.20

(23)



3.35

4. 30

Correct Answer :-
o 25

21) Martha is four times the age her daughter Lynda. Four years back, she was eight times her
daughter's age. After how many years will Martha be twice Lynda’'s age? /'FITQI'T, qu:ﬁg'?ﬁ freT!
3T A TR A1 93 81 IR a9 gd, Y 3o Tt &Y 3y & 3ime 11 a3t <Ft1 faram adf ugra, wrat
RisT % 3mg #1 SR gihft

1.21
2. 28
3. 14

4.7

Correct Answer :-

. 14

22) Find the value: / ATH &I JTd $ :
(33 + (((10 / 5) / 5) * 20) — 40)

1. 100

2.0

3.1

4. 35

Correct Answer :-

23) Find the average. / 3 fFrepfer|
12, 28, 44, 32, 66 & 82

1. 40

2.44

3.48

4. 50

Correct Answer :-

(24)



24) Two mixtures that contain water and wine are mixed in the ratio of 4 : 5. If the first mixture
is taken to be 20 litres, then what is the amount of wine in the second mixture that contains

water and wine in the ratio of 2 : 3? /uﬁsﬁvmaﬁaﬁrsrﬁﬁ4 : 5%3@%1&&%
forar | afe wyw firgor 20 <fex forar wan @, af g frgyor # are= &1 Amn oo enft afe
T 3R AT B 2 : 3 % Srgurd | e fear wiman 82

1. 25 litres / 25 Tl
2. 17 litres / 17 ?“EQ
3. 15 litres / 15 Tex

4, 10 litres / 10 e

Correct Answer :-

o 15 litres / 15 TR

25) Length of a diagonal is 10 cm and the length of the perpendicular drawn to the diagonal
from the opposite vertices is 5 cm and 4 cm respectively. What is the area of quadrilateral? / €%

ool Y wvars 10 Adhfiex @ ofik faudia <fivf 9 faw ol 9 ©i= e <9 &) @vars sawr: 5 I
3R 4 9. B s AgUT T QA R /?

1.35sq.cm/ 35 if I,
2. 40 sq.cm / 40 T I,
3. 55sq.cm/ 55 I .
4. 45 sq.cm /45 7f I,

Correct Answer :-

» 45sq.cm/45 aif I,

26) The present age of a brother and sister are in the ratio of 4 : 3. After 6 years, their ages will
be in the ratio of 9 : 7. What was the ratio of their ages 10 years ago? / Udh 'J-ITQF 3T Udh dgd 3|
TAHT 3T BT 3JUTT 4 : 3 B1 6 T UYTA, IAD! 3T BT 3T 9 : 7 T 10 T Yd ST Mg
P SUTd fHa-T 412

1.19:13
2.4:7
3.9:4

4,1:3

Correct Answer :-

« 19:13



27) The value of m in equation m2—-m-= 6is:/ﬂTﬁWUTm2—m =6 ﬁmﬁﬂ'ﬁ%:
1. 1,3
2.2,1
3.1,-1

4.3,-2

Correct Answer :-

28) The sum of the present ages of a father and his son is 60 years. Six years ago, father's age
was five times the age of the son. After 6 years, son's age will be: / Wﬁ?ﬂ 3R 39S ﬂ'?faﬁ
T 3T BT ATEE 60 79 &1 T8 99 T, Far &1 3y 3T T 1 Mg T Ui A1 561 R 6
9 UYTd [T B 3T I

1. 15 years/ 15 GL
2. 22 years / 22 T4
3. 18 years / 18 Y

4. 20 years / 20 Gl

Correct Answer :-
o 20 years /20 Gl

29) If the ages of Nelson and Michael is in the ratio 3 : 5, and after 9 years, the ratio of their
ages become 3 : 4, then, the present age of Michael is: / ﬂﬁﬁ?ﬂq 3R HIgPdA | 3 3:5 &
SFuTd 7 8 3% 9 9 UYTd IAPT 3T BT 3ATUTA 3 : 4 Bl ST © <l AISHd I qAHH 3 8:

1. 15 years / 1539
2. 12 years / 12 %
3. 18 years / 18 Y

4, 20 years / 20 Y

Correct Answer :-

o 15years/ 15 Gl

30) Three persons are walking from A to B. Their speeds are in the ratio of 4 : 5 : 3. The time

ratio to reach B will be: / 11 Sfeki A & B 0% Id Te & | STeb! 9Tall T 3JUIT 4: 5: 381 BAD
g T GHT 3T §HTT:

1.4:5:3

(26)



2.15:12:20
3.15:20:12
4.3:5:4

Correct Answer :-
e 15:12:20

Topic:- Science and Simple Arithmetic

1)
Simplify: / Gl chilT:
22y 3 5
EYx (-3 x (= 2)
1.
3
2. 7
5
3, &2
2
4 5

Correct Answer :-

2) Simplify: / T3 FfAT
(2x+3) H+(2x-3)

1.18 x2 + 106 x
2.16 x> +108 x
3.16 x2+108
4,106 x> + 16 x2

Correct Answer :-

e 16 x3+108 x



L R

|

E
. 5
4) ]
In the figure, find the value of x. ar 3'% 3{@;1:{—'[ H x o7 #1F HRem]
Fig: f 311?51:3 ;
/<4:x'_-2.(] 5
e 1 e
‘1\3?{—:6
118
2.12°
3.20°
4.15

Correct Answer :-

c

« 15



5) Rabi crops are grown during the months of: / Wﬁmﬁﬁﬁﬁ%aﬂ?mﬂﬁ%
1. August to October / 3R Sfagsl

2. December to June / ﬁﬂ'ﬁﬂ@f@

3. June to September / [ I RdwR

4. October to March / 3{ECER I AT

Correct Answer :-

 October to March / 3{dgaX I

6) A floor, 11m long and 8 m broad, is to be paved with square tiles of side 0.5 m. The

number of tiles that would be required will be: / 11 e Gﬁ? s T iﬁ@'@ Wﬁfaﬁ, 0.5 |t
YTl &) 97 eTS el | SMTfrd HRA1 8| SATIRYD eTg el Bl =T B

1. 352
2.452
3.200

4. 400

Correct Answer :-

o 352

7) In a circle with centre C and diameter AB, < APB is an angle in the semicircle. If AP =PB,

then the measure of each angle of the triangle is: / $g C 3 U AB AT Udh qd ﬁ, ZAPB
3i¢fga ¥ ud HIur g1 afe AP = PB, A FHIUT & TS HIvT BT §:

i 85°,55° ,45¢

o 3 o
2.100 , 50,30

3.110, 50,20

4 90°, 45¢°,45¢°

Correct Answer :-
. 90°, 45¢,45¢

8) Ram bought a fridge for Rs. 9500 and sold it forcibly for Rs. 8250. His loss percentage will

be: / IM A 9500 T H TP b WIST 3R I T 8250 = H 99 fear| 34 g1 aredl
mgﬁﬁﬂ

(29)



1.13.1%
2. 15%
3. 14.2%

4, 12%

Correct Answer :-

« 13.1%

9) Keshav’s income was Rs.60000 per month. A pie chart was made to express his expenses
and savings. He saves Rs.15000 every month. What angle will represent his expenses in the

pie chart? / I B 3T 60000 T Ufa AT Y| IHP @ 3R g9d @@ & e we
UTE I1¢ ST 771 98 BX HElH 15000 & 91T g1 UTS 1 # SH® T (69 P R

e s
1. 180°
2.270°
3. 120°

4. 90°

Correct Answer :-

« 270°

10) Qut of 800 students, the maximum of them are arranged for drill such that the number
of rows is equal to the number of columns. Find the number of rows, if 16 students had been

left out after the arrangement. / 800 @'ﬁﬁﬁﬁ, fo\w, %ﬁ%ﬁﬂ'wmm@ﬁ
foru A for dfchral o S©n Siaq o1 GBI & SRR g1 | Ufdadl ot den Ao, afq
TaRIT & GG 16 BTA e |

1.32
2.35
3.30

4,28

Correct Answer :-

- 28

11) ¢ ( x —2) notebooks cost Rs.( 2x 3_ 8x2 +5x +6), then the cost of one notebook will be: /

Tfe (x - 2) NCTHI P BT ( 2x 3- 8x2 +5x +6) T &, G TP Alegd P! DI ghfl:

(30)



1. Rs.( 2x -6 x2)

2. Rs.(2x -3)

3. Rs.(2x2% -4x — 3)
4. Rs.(2x2 -2)
Correct Answer :-
. Rs.(2x2 -4x —3)

12) ABCD is a quadrilateral in which two of its angles are 89° and 113° and the other two

angles are equal. Find the equal angles. / ABCD T ?rg['l;fﬂ' % forad 39® &l HIvT 89°3f1%
113° § 3R GOX I BIVT SRS g | TRIER DIV B JTd BIOTT

1. 40°
2. 50°
3.79°
4, 31°

Correct Answer :-

. 79°

13) If 35 men can build a wall in 50 days, how many more men are required to build a wall

double the size in 70 days? / Tf 35 3ATSH TH AR B 50 &= & 991 Tpa &, at 70 fe=1 A
G SMTHR Pl TH SaR 991 & fore fvam sifafve sefirdl ot smazgear sift?

1. 15 men / 15 3TGH!
2. 13'men / 13 3MGH!
3. 17 men/ 17 SITGH]
4.12 men / 12 3TH!

Correct Answer :-

. 15men/153ﬂ31ﬂ

14) Calculate the compound interest for the second year on Rs. 5000 invested for 3 years at

10 % per annum. / 10 % Wfd 96 ®1 g3 U 3 IuT & fore = T 3 5000 = W gaw ad
B Ahqig ST BT TUFT BN |

1.Rs. 700 /700 =

31



2. Rs. 550/550%
3. Rs. 660/ 660 >

4.Rs. 750/ 750 %

Correct Answer :-

+ Rs.550/550%

15) If the length, breadth and height of a room are 6 m, 5 m and 3 m, respectively, what will
be the cost of white washing the walls of the room and the ceiling at the rate of Rs.6 per

square meter?/ﬂﬁmaﬂm,iﬁﬁgﬁﬁ?mmt 6Tﬁ, Sﬁéﬁ?’?aﬂ’f%,?ﬁw
B! EART 3R Td B 6 = Ui o Hex B G2 A 315 I HRAM B AT T GHIT?

1. Rs.450 /450 =
2.Rs.576 /576 %=
3. Rs.500/ 500 &=

4. Rs.555/555%

Correct Answer :-

« Rs.555/555%

16) What is the smallest number that must be multiplied to 37044 to make it a perfect cube?

/ 98 G BT G- 1 8 o Yol a1 9911 & 1T 37044 T Um HAT AMRE?

1.3
2.5
3.4

4,2

Correct Answer :-

17) Which of the following is NOT a natural resource? / Freafafeada s TP Wﬁﬁ?
HHIUT 81 67
1. Water / ST

2. Air/dig

3. Soil / Hal
4, Electricity / fooTdi!

(32)



Correct Answer :-

« Electricity / [ESEI]

18) Which one of the following is the least dense planet of the solar system? / ﬁ"zﬁﬁ@ﬁ A B
1 UF I8, IR Hed & TgIai eI Tg A A 87

1. Jupiter / QB’FTI%T
2. Mercury / 9Y

3. Saturn / T

4. Earth / Gl

Correct Answer :-

e Saturn /M

19) Which subatomic particles were considered to be within the nucleus according to Rutherford’s

model of an atom? / TGIHIS & TRHTY] HISH & SR, fH SMuRATUIIGS H01 Ft A1fH® & i
T ST T2

1. Neutrons only / %k ?E}Il:f
2. Protons and neutrons / Ulci9 Td QE:IJ:[
3. Protons only / % et

4. Alpha particles / 3eth] U

Correct Answer :-

» Protons only / Ryt et

20) A charged balloon gets attached to a wall due to: / T 3mafara [edRT 9 & ®RUT I I
S ST 8:

1. Muscular force / URT &

2. Gravitational force / WETUT EN)
3. Magnetic force / aﬁaﬂa ol

4. Electrostatic force / @Ragqﬁ qdl

Correct Answer :-

 Electrostatic force / @—Rﬁgﬂﬂ oc]

21) If you stand 1 m in front of a plane mirror, how far away would you see yourself in the mirror? /

gie My THad ST & JHe 1 WY, BT g8 IR WS €, aF 3y Jad &1 guur ¥ fra-t gt i @@
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1.1m/ 14
2.2m/2 4t
3.4m/4 9.

4. 3m/3H

Correct Answer :-

e Im/1HI

22) Aquatic animals survive because of the presence of atmospheric gases in water. This is possible

due to which one of the following properties of gases? / SI¢l T IufRyd Wﬁ@?ﬁ IufRyfa
P HRUT oY SITHER Siifad 38d & 1 8 99 & Fafefaa 7 9 fod qured & sRu dva g2

1. Diffusion / =0T
2. Surface tension / Y§ d-Id
3. Viscosity / Tl

4, Fluidity / dddl

Correct Answer :-

« Diffusion / TagRor

23) Female Anopheles mosquito is a carrier of a pathogen that causes: / HIGI QFﬁﬁ?ﬁlﬁ HOYTDh

SIS BT IS §IdT § oI HIRVT TG 6147 6:
1. Malaria / AARAT

2. Yellow fever / tﬂm

3. Filariasis/ qﬂ%ﬁﬁgﬂ

4. Dengue /@L‘l

Correct Answer :-

« Malaria / FRAT

24) What are ribosomes? / TSSNI ?!'TQT%"
1. Power house / G1aR gT3

2. Suicide bags / THg Al DIy

3. Protein factories / W19 @1 thae Rt

4. Pigment sacs / gufepiy

Correct Answer :-

(34)



« Protein factories / Mci &1 e NIl

25) Khadins, Bundhis, Ahars and Kattas are ancient structures that are examples for: /ETE:T, §"f§f,

TR YT HET T WA § it fob T & Iareon &:
1. Grain storage / 3ol HSRUT

2. Water harvesting / STdl g

3. Soil conservation / FaT TR&T

4. Wood storage / Flﬁ HSRUI

Correct Answer :-
« Water harvesting / ST&l Ta+

26) How does the food travel in the correct sequence of parts in the human alimentary canal? / HIHd

3R AT # HieH faft= it A e I8t o H I drar 82

1. Mouth—Stomach—Oesophagus—Small intestine—Large intestine / T@— ATHRIA—TRIGT-BIC!

2. Mouth—Stomach—Small intestine—0Oesophagus—Large intestine / @—»&HTITQRI—»@‘&

3. Mouth—Oesophagus— Stomach—Small intestine—Large intestine / GE—URI®H—TARA—BICT

4. Mouth—Oesophagus— Stomach—Large intestine—Small intestine /H@HM—»WH@SCT
Hd—BIcT 3fid|

Correct Answer :-

« Mouth—Qesophagus—Stomach—Small intestine—Large intestine / H@aﬂﬁﬁa&ﬂmﬂeé cl

27) The resistance of a wire depends onits___ ./ Th TR BT eIy R ik wear gl
1. material only / PHad I R

2. area of cross-section only / Had STTUY-PpIC & EABA TR

3. length, material and area of cross-section / GEIERSIE PG SITUHY Pl & &I W

4. length only / Pad ?ng 0

Correct Answer :-

* length, material and area of cross-section / Ei‘q'l‘i it aur SITUHY Phic P &THA R

(39)



The molecular formula of alcohol which can be derived from propane is: / Wﬁlﬁm 3Mfuges g4,

<Y fob WO 9 ogeud faran o 9war &:
1. C;H,0H
2. C,H;OH
3. C,H;0H

4. CH;OH

Correct Answer :-
L4 C3H7OH

29) The cells of the epithelial tissue have no intercellular space because they: / SUDI SHAD DI
PIRTPISN F SFRTPIRIP R g1 5idl g FNTP

1. Tend to peel off/aW$mWEﬁ?f%|

2. Prevent loss of water / d ST @1 B'Iﬁ I AHYM B %"I

3. Have protective function / 3ThT JRETTHD &1 gl 5

4. Have secretory function / 3]l ISl B GGl %I

Correct Answer :-

« Have protective function / 3D YRETIHP maﬂ'{%l

30) Identify the largest cell in the human body? / HI-d IR BT TaY a@ﬁ PIRADT B U P2
1. Liver cell / G%d ®ITAbTY (FTaR Ta)

2. RBC / 3Rl

3. Nerve cell / AT HIRBT ﬁa‘@a)

4. Egg cell / m(@@@

Correct Answer :-

« Egg cell / ASHIRIBT (T Ia)

(36)



